9.4 Quadratic Congruence With Composite Moduli

Note Title 8/14/2006

1. (a) Show that 7 and 18 are The only incongruent solutions of x2 = -1 (mod 52)

By $\Re x \cdot 8.12$, $x^{k} = -1$ (mod 25) has a solution $= 7 \cdot (-1)^{9(25)}/d = 1$ (mod 25), where $\Re (25) = 5^2 - 5 = 20$, $d = \gcd(K, \Re(25))$ (fire K = 2, $d = \gcd(2, \Re(25)) = 2$, and so $(-1)^{20/2} = (-1)^{10} = 1 = 1$ (mod 25). ... It has a solution, and $\Re x \cdot 8.12$ says it has exactly d = 2 in congruent solutions.

 $7 \neq 18 \pmod{25}$, and $7^2 = 49 = -1 \pmod{25}$, and $18^2 = 324 = 24 = -1 \pmod{25}$

To derive 7, 18, first solve for ph-1 to get to and 6

 $x^2 = -1 \pmod{5}$, or $x^2 = 4 \pmod{5}$ $x_0 = 2 \pmod{5}$, $x_0^2 = 4 = -1 + (i)5$, $x_0 = 2$, b = 1

Now solve $2 \star_0 y = -6 \pmod{5}$, or $4y = -1 \pmod{5}$, ... $y_0 = 1 \pmod{5}$

(1) Solve
$$x^2 = -1 \pmod{5^2}$$
. From (a), $x_0 = 7$.

$$\therefore x_0^2 = a + b p^2, \text{ or } 7^2 = (-1) + b (5^2),$$
or $49 = (-1) + (2)(5^2), b = 2$.

(3)
$$\therefore x_1 \equiv x_0 + y_0 \rho^2 = 7 + 2(5^2) = 57$$

By Th. 8-12,
$$d = gcd(K, \beta(5^3)) = gcd(Z, 100) = 2$$
,
so exactly 2 solutions.

- Z. Solve each of The following quadratic congruences:
 (G) x2 = 7 (mod 33)
 - (i) First solve $x^2 \equiv 7 \pmod{3}$, or $x \equiv 1 \pmod{3}$ Clearly, $x = \pm 1$. Choose x = 1. $\frac{1}{2} = \frac{1}{7} + (-2)3$, so $x_0 = 1$, b = -2
 - (2) $Solve 2x_0 y = -6 \pmod{3}$ or $2y = 2 \pmod{3}$, so y = 1.
 - (3) A solution to $x^2 = 7 \pmod{3^2}$ is $x_0 + y_0 = 1 + 1(3) = 4 = x_0'$

 - (5) Now solve $2x_0'y' \equiv -6 \pmod{p}$, or $8y' \equiv -1 \pmod{3}$, or $2y' \equiv 2 \pmod{5}$, so $y' \equiv 1$
 - (6) -- a solution to $x^2 = 7 \pmod{3^3}$ is $x_0' + y_0' \cdot 3^2 = 4 + (1) \cdot 9 = 13$. Also, -13.
 - (7) : $X = 13, -13 \text{ or } X = 13, 14 \pmod{3^3}$

(1)
$$\chi^2 = 14 \pmod{5}$$
, or $\chi^2 = 4 \pmod{5}$. $= \chi_0 = 2$
 $= 2^2 = 14 + 6 - 5$, $6 = -2$

(3) :- a solution to
$$x^2 = 14 \pmod{5^2}$$
 is $x_0 + y_0 p = 2 + 3(5) = 17$

$$(4)$$
 = $17^2 = 14 + 6(5^2)$, $6 = 11$

$$(5)$$
 -- Solve $2x_0y = -6 \pmod{p}$, or $34y = -11 \pmod{5}$, or $4y = 4 \pmod{5}$, $-1y = 1$.

(6) i- a solution to
$$x = 14 \pmod{5^3}$$
 is $17 + 1(5^2) = 42$, or $-42 \cdot 125 - 42 = 83$

(1)
$$x^2 = 2 \pmod{7}$$
 $x_0 = 3$
 $3^2 = 2 + (1) = 7$, so $6 = 1$

(2)
$$Z(3)y = -1 \pmod{7}$$
, or $Gy = G \pmod{7}$, $y = 1$.

(3) i- solution to
$$\chi^2 = 2 \pmod{7^2}$$
 is
to typ = 3 + (1)-7 = 10

(4)
$$= 56/ve \ 2(10)y = -2 \ (mod 7), or$$

 $= 20 \ y = -2 \ (mod 1) \ or -y = -2 \ (mod 7),$
 $= 20 \ y = 2 \ (mod 1) \ or -y = -2 \ (mod 2),$

(5) i- solution to
$$x^2 = 2 \pmod{7^8}$$
 is
$$10+(2)(7^2) = 108, -108. \quad 7^3-108 = 343-108 = 235$$

(1) Solve
$$x^2 = 31 \pmod{1}$$
, or $x^2 = 9 \pmod{1}$. $\therefore x = 3$
 $3^2 = 31 + 6(11)$, $b = -2$.

4. Find The solutions of
$$x^2+5x+6=0 \pmod{5^8}$$
 and $x^2+x+3=0 \pmod{5^7}$, i. $x=-5,-2$, or $x=(2^2,123 \pmod{5^8})$

(b) $x^2+x+3=0 \pmod{5^7}$, i. $x=-5,-2$, or $x=(2^2,123 \pmod{5^8})$

(c) $x^2+x+3=0 \pmod{5^8}$

(d) $x^2+x+3=0 \pmod{5^8}$

(e) $x^2+x+3=0 \pmod{5^8}$

(f) $x^2+x+3=0 \pmod{5^8}$

(g) $x^2+x+3=0 \pmod{5^8}$

(g) $x^2+x+3=0 \pmod{5^8}$

(h) $x^2+x+3=0 \pmod{5^8}$

(h) $x^2+x+3=0 \pmod{5^8}$

(g) $x^2+x+3=0 \pmod{5^8}$

(h) $x^2+x+1=0 \pmod{5^8}$

(h

it has exactly four incongruent solutions. Pf: Note: cant invoke M. 8.12 since 2º has no primitive roots for n≥3. Since a 15 odd, if x is a solution, Phen x must be odd. Also, -x is a solution. Suppose y is any other solution. $y^2 = a \pmod{2^n}$, so $x^2 = y^2 \pmod{2^n}$, $n \ge 3$. $-1 - (x-y)(x+y) \equiv 0 \pmod{2^n}$ But note That 2+ 2 = x, which is odd. -- Ony one of x-y xxx is even. (1) Suppose x-y is the even factor, 150 x+y is the odd factor [- (x-y)(x+y) = 0 (mod 2n-1) =)

$$x-y = 0 \pmod{2^{n-1}} = 7$$

$$x = y \pmod{2^{n-1}}$$
(2) Suppose $x \neq y$ is the even factor, so
$$x \neq y = 0 \pmod{4^{n-1}} = 7$$

$$x \neq y = 0 \pmod{4^{n-1}} = 7$$

$$x \neq y = 0 \pmod{2^{n-1}} = 7$$

$$x \neq y = 0 \pmod{2^{n-1}} = 7$$

$$x \neq y = 0 \pmod{2^{n-1}} = 7$$

$$x = -y \pmod{2^{n-1}}$$
(1), (2) = 7 if y is any other solution,
$$y = \pm x + k = 2^{n-1}$$

$$y = \pm x + k = 2^{n-1} \pmod{2^n}$$

$$y = \pm x + k = 2^{n-1} \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

$$y = \pm x + k = 2^n \pmod{2^n}$$

- -- [1] [2] => only incongruent solutions, mod 2", are x,-x, x+2",-x+2"-1
- C. From $23^2 \equiv 17 \pmod{27}$, find Three other solutions of the quadratic congruence $x^2 \equiv 17 \pmod{2^7}$

From #5 above, solutions are $23, -23, 23 + 2^6$, and $-23 + 2^6$ mod 2^7 . $2^6 = 64, 2^7 = 128 \cdot ... - 23 + 2^7 = 105$ $... 23, 105, 87, 41 \pmod{2^7}$

7. First determine The values of a for which
The congruences below are solvable, and then
find the solutions of these congruences.

(a) x2 = a (mod 24)

By M. 9.12, solvable = a = 1 (mod 8). 24 = 16. -: a = 1 or 9

Mow use #5 above.

 $a=(: x=/,-/,1+z^3,-/+2^3)$

$$x = 1, -1 + 16, 9, 7$$

$$x = 1, 7, 9, 18 \pmod{2^4}$$

$$a = 9: x = 3, -3, 3 + 2^3, -3 + 2^3$$

$$x = 3, 13, 11, 5$$

$$x^2 = a \pmod{2^5}$$

$$x^2 = a \pmod{2^5}$$

$$x = 4, 9, 17, or 25$$

$$x = 1, 31, 17, 15$$

$$x = 1, 31, 17, 15$$

$$x = 1, 31, 17, 15$$

$$x = 3, 29, 19, 13$$

$$x = 17 + 17 + 2^4$$

$$x = 17 + 17 + 2^4$$

$$x = 7, 25, 23, 9$$

$$x = 25: x = 45, \pm 5 + 2^4$$

$$x = 5, 27, 21, 1/$$
(C) $x^2 = a \pmod{2^c}$

$$2^c = c4 ... 50/vable \rightleftharpoons a = 1 \pmod{8}$$

$$a = 1, 17, 25, 33, 41, 49, 57$$

$$a = 1: \pm 1, \pm 1 + 2^c$$

$$x = 1, 63, 33, 31$$

$$a = 9: \pm 3, \pm 3 + 2^c$$

$$x = 3, 61, 35, 29$$

$$a = 17: 17 + 64 = 81, ... \pm 9, \pm 9 + 2^c$$

$$x = 9, 55, 41, 23$$

$$a = 25: \pm 5, \pm 5 + 2^c$$

$$a = 17$$
: $17 + 64 = 81$: ± 9 + 2^{5} .: $x = 9$, 55 , 41 , 23

$$\alpha = 25$$
: ± 5 , ± 5 + 2^5
 $\therefore x = 5,59,37,27$

$$Q = 33$$
; $33 + 64 = 97,33 + 128 = 166,33 + 192 = 225$
 $1 + 15 + 15 + 25$
 $1 + 15 + 49,47,17$

$$\alpha = 41$$
: $41 + 64 = 105$, $41 + 128 = 169$
 $\frac{1}{2} \pm 13$, $\pm 13 + 25$

```
(i.e. x=1,3), and for x=a (mod 2n),

n ≥ 3, when a = 1 (mod 8), problem #5

Shows There are exactly 4 solutions.
i. if g(d(q, n) = 1), Then There are Z \cdot Z'

possible solutions if a = 1 \pmod{4} and a \neq (\pmod{8}), and 4 \cdot Z' possible solutions if a = 1 \pmod{8}.
         Ladel These solutions Xiki, so
That, for example, Xik, and Xzk,
           are The solutions to x = a (mod p")
i. (msider The 4-2" (a=1 (mod8)) or 2-2" (a=1 (mod 4), a \ 1 (mod 8)) linear equation systems:
                                                        X = X2 Ko (mod 2 40)
     X \equiv X_{l, K_0} \pmod{2^{K_0}}
     X = Xik (mod pkr)
                                                         X = X (mod pk)
                                                         X = X2 Ko (mod 2 kc)
                                                         X= X2Kr (mod pKr)
```

By The Chinese Remainder Th., There is a simultaneous solution unique to $n = 2^{k_0} p^{k_1} \dots p^{k_r}$ for each system.

Thus, The number of solutions is, for any a with gcd(a, n) = 1: 2^r , if $n = p^{k_1} \dots p^{k_r}$ $2 - 2^r$, if $n = 2p^{k_1} \dots p^{k_r}$

 $2-2^{r}$, if $n=2^{2}$ $p_{1}^{k_{1}}$ and $q=1 \pmod{4}$, $4-2^{r}$, if $n=2^{k_{0}}$ $p_{1}^{k_{1}}$, $p_{r}^{k_{r}}$, $k_{0} \ge 3$ and $q=1 \pmod{8}$

9. (a) Without actually finding Them, determine
The number of solutions of The congruences

X'= 3 (mod 112.232) and x2= 9 (mod 203.3.52)

(1) $\chi^2 = 3 \pmod{1/2 - 25^2}$ $\chi^2 = 3 \pmod{1/2} \text{ and } \chi^2 = 3 \pmod{25^2}$ each will have 2 solutions (by 74.8.12) So 2-2=4 solutions

(2)
$$x^{2} = 9 \pmod{2^{3} \cdot 3 \cdot 5^{2}}$$
 $x^{2} = 9 \pmod{2^{3}} \text{ has } 4 \text{ (by prob. #5)}$
 $x^{2} = 9 \pmod{2^{3}} \text{ has } 4 \text{ (by prob. #5)}$
 $x^{2} = 9 \pmod{3} = x^{2} = 0 \pmod{3}, \text{ so inst}$

1 solution ($x = 0$).

 $x = 9 \pmod{5^{2}} \text{ has } 2 \text{ solutions.}$

(b) $50/VC \times^{2} = 9 \pmod{2^{3} \cdot 3 \cdot 5^{2}}$
 $x = 43, \pm 3 + 2^{2} \text{ by prob. #5}$
 $x = 3, 5, 7, 1 \pmod{2^{3}}$
 $x^{2} = 9 \pmod{3} \implies x = 0 \pmod{3}$
 $x^{2} = 9 \pmod{3} \implies x = 3, 22 \pmod{5^{2}}$

(1) $x = 1 \pmod{8} \implies x = 3, 22 \pmod{5^{2}}$
 $x = 0 \pmod{3} \implies x = 3, 22 \pmod{5^{2}}$
 $x = 0 \pmod{3} \implies x = 3, 22 \pmod{5^{2}}$
 $x = 0 \pmod{3} \implies x = 3, 22 \pmod{5^{2}}$
 $x = 0 \pmod{3} \implies x = 3, 22 \pmod{5^{2}}$
 $x = 0 \pmod{3} \implies x = 3, 22 \pmod{5^{2}}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 200 = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 2^{3} \cdot 5^{2}$
 $x = 0 \pmod{3} \implies x = 2^{3} \pmod{3}$
 $x = 0 \pmod{3}$

$$24x_3 \equiv 1 \pmod{25}$$

 $-x_3 \equiv 1, x_3 \equiv -1 \equiv 24$
 $(1)(25)(3) + 0 \cdot (200)(2)$

$$(1)(25)(3) + 0 \cdot (200)(2) + (3)(24)(-1) = 153$$

(2)
$$X = 3 \pmod{8}$$
 as above, $N = 2^3 \cdot 3 \cdot 5^2$
 $X = 0 \pmod{8}$ $N_1 = 75$, $N_2 = 200$, $N_3 = 24$
 $X = 3 \pmod{25}$ $X_1 = 3$, $X_2 = 2$, $X_3 = -1$

$$[-1, x = (3)(75)(3) + 0 + (3)(24)(-1) = 603$$

(3)
$$X = 5 \pmod{8}$$
 as in (1), $N = 2^3 \cdot 3 \cdot 5^2$
 $X = 0 \pmod{3}$ $N_1 = 75$, $N_2 = 200$, $N_3 = 24$
 $X = 3 \pmod{25}$ $X_1 = 3$, $X_2 = 2$, $X_3 = -1$

(4)
$$x \equiv 7 \pmod{8}$$
 as in (1), $N = 2^3 \cdot 3 \cdot 5^{-2}$
 $x \equiv 0 \pmod{3}$ $N_1 = 75$, $N_2 = 200$, $N_3 = 24$
 $x \equiv 3 \pmod{25}$ $N_1 = 3$, $N_2 = 2$, $N_3 = -1$

$$\begin{array}{l} ... \quad X = (7)(75)(3) + 0 + (3)(24)(-1) = 1503 \\ ... \quad X = 303 \quad (mod 2^3 \cdot 3 \cdot 5^2) \\ \hline (5) \quad X = ((mod 8) \quad as in(1), \quad M = 2^3 \cdot 3 \cdot 5^2 = (00) \\ X = 0 \quad (mod 3) \quad M_1 = 75, \quad M_2 = 200, \quad M_3 = 24 \\ X = 22 \quad (mod 25) \quad X_1 = 3, \quad X_2 = 2, \quad X_3 = -1 \\ \hline X = (1)(75)(3) + 0 + (22)(24)(-1) = -303 \\ \hline ... \quad X = 297 \quad (mod 2^3 \cdot 3 \cdot 5^2) \\ \hline (6) \quad X = 3 \quad (mod 8) \quad as in(1), \quad M = 2^3 \cdot 3 \cdot 5^2 = (00) \\ X = 0 \quad (mod 3) \quad M_1 = 75, \quad M_2 = 200, \quad M_3 = 24 \\ X = 22 \quad (mod 25) \quad X_1 = 3, \quad X_2 = 2, \quad X_3 = -1 \\ \hline X = (3)(75)(3) + 0 + (22)(24)(-1) = 147 \\ \hline ... \quad X = (47) \quad (mod 2^3 \cdot 3 \cdot 5^2) \\ \hline (7) \quad X = 5 \quad (mod 8) \quad as in(1), \quad M = 2^3 \cdot 3 \cdot 5^2 = (00) \\ X = 0 \quad (mod 3) \quad M_1 = 75, \quad M_2 = 200, \quad M_3 = 24 \\ X = 22 \quad (mod 25) \quad X_1 = 3, \quad X_2 = 2, \quad X_3 = -1 \\ \hline X = (5)(75)(3) + 0 + (22)(24)(-1) = 597 \\ \hline \end{array}$$

(8)
$$X = 7 \pmod{8}$$
 as $in(1)$, $N = 2^3 \cdot 3 \cdot 5^2 = 600$
 $X = 0 \pmod{3}$ $N_1 = 75$, $N_2 = 200$, $N_3 = 24$
 $X = 22 \pmod{25}$ $X_1 = 3$, $X_2 = 2$, $X_3 = -1$

$$x = (7)(75)(3) + 0 + (22)(24)(-1) = 1047$$

$$--\times = 3,147,153,297,303,447,453,597 \pmod{2^3.3.5^2}$$

- 10. (a) For an odd prime ρ , prove That The congruence $2x^2 + l \equiv 0 \pmod{p}$ has a solution if and only if $\rho \equiv l \text{ or } 3 \pmod{8}$.
 - As gcd(8, p) = 1, $2 \times ^2 + 1 = 0 \pmod{p}$ has a solution $\rightleftharpoons 8(2 \times ^2 + 1) = 0 \pmod{p}$ has a solution $\rightleftharpoons (4 \times) = -8 \pmod{p}$. Let $y = 4 \times$, Then can solve $4 \times = y \pmod{p}$. Since $y^2 = -8$, $gcd(y^2, p) = gcd(y, p) = 1$, so $4 \times = y \pmod{p}$ has a unique

solution.

$$\frac{1}{2} = -8 \pmod{p} \text{ has a Solution}$$

$$= \frac{7}{8} (-8/p) = (\frac{1}{p}) (\frac{2}{p}) = (-1/p)(\frac{2}{p}) = (-1/p)(\frac{2}{p}) = (-1/p)(\frac{2}{p}) = (-1/p)(\frac{2}{p}) = (-1/p) = (\frac{2}{p}) = (\frac{2}{p}$$

(-1/p) = (-1) = / = / = / = / is even

$$\begin{array}{ll}
-2(5) y = -3 \pmod{11} \\
-y = -3 \pmod{11} \\
y = 3 \pmod{11} \\
y = 3
\end{array}$$

$$\begin{array}{ll}
-1 & \text{if } y = 3 \\
\text{if } y = 3 \\
\text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-2 & \text{if } y = 38 \\
\text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38 \\
\text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38 \\
\text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38 \\
\text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{ll}
-3 & \text{if } y = 38$$

$$\begin{array}{ll}
-3 & \text{if } y = 38
\end{array}$$

$$\begin{array}{$$

$$\therefore x = \pm 70 \pmod{12}$$

 $\therefore x = 51, 70 \pmod{12}$